
  EB8000 Bench      
User’s Manual / Assembly Guide 

 

 
If you have trouble understanding these instructions contact your dealer or Pivotal Health Solutions support at 800-743-
7738. 

 

 
Technical Specifications  

• Overall Height...…………………..22” 
• Overall Width………………………24” 
• Overall Length…………………….72” 
• Weight………………………………..70 lbs (31 kg) 
• Weight Capacity………………….600 lbs (272 kg) 

Product Description  

Intended Use: The EB8000 bench is intended for use in clinical settings to support patients during 
chiropractic treatments. 

Warnings and Precautions 

• Do not exceed table’s maximum weight capacity of 600 lbs (272 kg). 
• Periodically recheck tightness of all nuts, bolts and screws. 
• This table is NOT intended for use with other accessories. 
• Use only Pivotal Health Solutions replacement parts. 
• Contact Pivotal Health Solutions if service is needed (1-800-743-7738). 

Tools needed for Assembly 

• Two 1/2” Wrenches 
• One 3/8” Wrench 



EB8000 Bench 2 PivotalHealthSolutions.com
  800-743-7738 

Before beginning assembly, verify you have the ALL fasteners and parts listed below: 

 

 

 

 

 

 

 

 



EB8000 Bench 3 PivotalHealthSolutions.com
  800-743-7738 

 

 

 

 

 

 

 



EB8000 Bench 4 PivotalHealthSolutions.com
  800-743-7738 

Assembly STEP 1: Attach Bottom Brace   to Bench Legs   with 2-½” 

Bolt  and Lock Nut .  

NOTE: Fastener goes to inside of frame. (See Detail 2.1). 

NOTE: Ensure arm rest holes in bench legs face the same direction 
(See Detail 2.2). 

 

  
FOR EASE OF ASSEMBLY, LEAVE ALL HARDWARE LOOSE UNTIL COMPLETLEY 

ASSEMBLED. 



EB8000 Bench 5 PivotalHealthSolutions.com
  800-743-7738 

Assembly STEP 2: Attach arm rest  to base frame with 2-½” Bolt  

and Lock Nut .  

NOTE: Fastener goes to inside of frame. (See Detail 2.3). 

NOTE: Arm rests should angle downward. 

 
 

 

 

 

FOR EASE OF ASSEMBLY, LEAVE ALL HARDWARE LOOSE UNTIL COMPLETLEY 
ASSEMBLED. 

 



EB8000 Bench 6 PivotalHealthSolutions.com
  800-743-7738 

Assembly STEP 3: Attach Arm Cushions to arm rest with 1-3/4” Bolt 

 (See Detail 2.4). 

 

 
 

 

FOR EASE OF ASSEMBLY, LEAVE ALL HARDWARE LOOSE UNTIL COMPLETLEY 
ASSEMBLED. 

 

 



EB8000 Bench 7 PivotalHealthSolutions.com
  800-743-7738 

 

Assembly STEP 4: Slide head support bracket through slots in Head Lock 

Tube .  

NOTE: Attach Head Lock Tubes to Top Cushion Assembly  using 1-

3/4” Bolt . 

 
 

 

 

 

FOR EASE OF ASSEMBLY, LEAVE ALL HARDWARE LOOSE UNTIL COMPLETLEY 
ASSEMBLED. 

 



EB8000 Bench 8 PivotalHealthSolutions.com
  800-743-7738 

 

Assembly STEP 5:  Attach Head Support Brackets to Head Lock Tubes with 

¼-20x1-½ Bolt  and ¼-20 Locknut . 

NOTE: Locknuts go to inside of tubes. (See Detail 2.5) 
 

 
 

 

 

 

 

FOR EASE OF ASSEMBLY, LEAVE ALL HARDWARE LOOSE UNTIL COMPLETLEY 
ASSEMBLED. 

 



EB8000 Bench 9 PivotalHealthSolutions.com
  800-743-7738 

 

 

Assembly STEP 6: Attach Top Cushion Assembly to Base Frame with 1-

3/4” Bolt . 

3.6.1 The Top Cushion fastens to the frame at six locations. 

 

 

 

 

 

  ASSEMBLY IS COMPLETE.  GO BACK AND TIGHTEN ALL 
HARDWARE ON TABLE BEFORE USE. 

 

 

 



EB8000 Bench 10 PivotalHealthSolutions.com
  800-743-7738 

Upholstery Cleaning and Care 
For light soiling, a solution of 10% household liquid dish soap with warm water, applied with soft damp 
cloth. Rinse with clean water and dry. 
 

• For heavy soiling, dampen a soft white cloth in a one to one (1:1) solution of Fantastik® and 
water OR Formula 409® and water.  Rub gently and rinse with a water dampened cloth. 

• For more difficult stains, dampen a soft white cloth with a solution of household bleach (10% 
bleach / 90% water). Rub gently and rinse with a water dampened cloth to remove bleach 
concentration. 

• DO NOT USE ALCOHOL BASED CLEANING AGENTS!  
• IMPROPER CLEANING WILL CANCEL WARRANTY! 

 
This information is not a guarantee and does not relieve the user from their responsibility of the 
proper and safe use of the product and all cleaning agents. The use of certain agents can be harmful to 
the surface appearance and lifespan of vinyl. Pivotal Health Solutions assumes no responsibility 
resulting from the use of such agents to the vinyl. 

 

Service, Warranty, Manufacturer Contact Information 
If a serious incident occurs in relation to this device, report the incident to Pivotal Health Solutions with 
the contact information below.   

If the incident occurs in the EU, also report any serious incident to the competent authority of the 
Member State in which the user and/or patient is established. 

If service is required, contact Pivotal Health Solutions with the contact information below or email 
service@pivotalhealthsolutions.com. 

          Pivotal Health Solutions, Inc. 

3003 9th Ave. SW; Watertown, SD, 57201 USA 

 800-743-7738  011-1-605-753-0110   605-882-8398 

 htttp://www.pivotalhealthsolutions.com 

   

 

  

   
 Rev F 07/17/2023 

 

Emergo Europe 
Westervoortsedijk 60 
6827 AT Arnhem 
The Netherlands 

mailto:service@pivotalhealthsolutions.com

	Assembly STEP 1: Attach Bottom Brace   to Bench Legs   with 2-½” Bolt  and Lock Nut.
	NOTE: Fastener goes to inside of frame. (See Detail 2.1).
	NOTE: Ensure arm rest holes in bench legs face the same direction (See Detail 2.2).

	Assembly STEP 2: Attach arm rest  to base frame with 2-½” Bolt  and Lock Nut.
	NOTE: Fastener goes to inside of frame. (See Detail 2.3).
	NOTE: Arm rests should angle downward.

	Assembly STEP 3: Attach Arm Cushions to arm rest with 1-3/4” Bolt  (See Detail 2.4).
	Assembly STEP 4: Slide head support bracket through slots in Head Lock Tube.
	NOTE: Attach Head Lock Tubes to Top Cushion Assembly  using 1-3/4” Bolt.

	Assembly STEP 5:  Attach Head Support Brackets to Head Lock Tubes with ¼-20x1-½ Bolt  and ¼-20 Locknut.
	NOTE: Locknuts go to inside of tubes. (See Detail 2.5)

	Assembly STEP 6: Attach Top Cushion Assembly to Base Frame with 1-3/4” Bolt.
	3.6.1 The Top Cushion fastens to the frame at six locations.

	ASSEMBLY IS COMPLETE.  GO BACK AND TIGHTEN ALL HARDWARE ON TABLE BEFORE USE.

